Day 4 Answers

Task 1 Task 2
Arithmetic
Problem solving 1
Q1. 9. —
5 21
Accept an answer in the range -5.2 to -4.8
inclusive 10. 379.15
Q2. 11. 65.122
F2ZI[=TIT] +’ signs may be omitted.
12. 100,199
Q3. 13. 25
(@ 10
Accept +10 OR -10 Accept 5°
Do not accept an incomplete calculation,
eg:4+6
14. 24,000
(b) -4
Accept ‘negative 4° OR ‘minus 4’ OR 4
below 15. 94,999
Do not accept ‘4.
16. 418,504

Q4.

The gradation corresponding to —1.5 correctly
indicated on the number line

It is not necessary for the point to be
labelled —1.5

It is not necessary for the point to be
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marked with an arrow.

A point corresponding to 0.45 correctly
indicated on the number line

It is not necessary for the point to be
labelled 0.45

Accept any point marked that is
clearly between the gradations for
0.4 and 0.5

It is not necessary for the point to be
marked with an arrow.




